]_{i}

(i)

i)

iv)

)
vi)

(vii)

LA LR e A |

ACCOUNTANCY AND BUSINESS §1 A 1671
First Paper (Dircet Taxes) o
PART-I (OBJECTYV L)
js “Pin Money™ income 211 no, thep why 2
a7 TR 3 & 2 afe @, W o
To what extent the contribution given by a ;
of the assessec to the Approved Supuanntal?g;?m:fg o rtspc:;
. < exempte
ﬁmmm_%mﬁ mﬁamﬁmﬁfﬁmﬁﬁ;w
sty T W9 9% TR S *
How is the gross annual value of 3 Jet

out house determi
fed T IOM A WEH F GFq mmined ?
::rm‘é? y - N mﬁ*‘iﬂﬁamﬁa‘iﬁam

An assessee has obtained a patent right for Rs. 2,62,500 for 20

years during previous year 1997-98. How much deduction will be
available while computing income from business and profession?

o A 3 TE ad 1997-98 H 2,62,500 792§ v% Yeve S 20
aﬂ%ﬁqwﬁmlwmﬁwﬁﬁWﬂﬁmmaﬁ

How is total income of an assessee rounded off"?

TF FEE B Fo AT HQlF T frg wer whaffa fem sm e

[f the total income of an assessee exceeds the “maximum exempted
amount” he has to file his return of income ¢ mpulsorily. What is

this “maximum exempted amount™ ? *

ﬂwmmﬁﬁmﬁwmwﬁ%mﬂﬁ
T M F T Had w9 R qiEs w1 o ¥ 9w et

= O’ feaAT &2

At what rate will the deduction of tax at source be mede on payment
to Contractor or Sub-Contractor during the financial; year 2012-

13?2

firdt 2012—1'3 %’ ﬁsnz 3 Y " EiE ol ok e

W R F 5 FA rg R w0 I@W?

) ted in respect 01 NEWIY establigh, *
How mueh prol under Section 10AA ? ed yp,

i ic zone
in special econont e A?
ummmﬁ;awfﬁﬁﬁﬁaaaﬁa wifa ‘*m%

ferat H 27 ) L

fere tal income ofan individual for the previous year 3¢
The tota ofan
Rs. 2,40,000 which includes
wWhat will be his tax liability t

Rs. 1,00.09ﬂ?ﬁﬁﬁmaﬁ@ =g 2,40,0013;@3%

12
a4 2011 Wﬁmqﬁqﬁﬁ%mﬁﬁﬁw

30,000 T F )

1m,mufﬁaﬂmﬁaﬁsﬂ$}$‘ﬁﬁ:}m3hmm 2

C;c-vind wransferred to his wife securitie | ) - 2,000,
W sthout consideration during thg ﬁnaﬂmg _year [}03_{19'
'i':\]teresl is earned on these securities @ 10% per annum, Dy

the year 2010-11 his wife invested two years income also i
imitar securities. During the previous year 2011-12 she eap,
Rs. 24,000 on an investment of Rs. 2,40,000. How much incy
shall be included in the total income of Govind ? _
e A Mqﬁ'ﬁﬁz.m,oﬂnmﬁaﬁuﬁﬂgﬁmﬁﬁwaﬂzm_m
fil SR & FERERE #1 T W10 viowd afted 1wl
sk g &1 @ 2010-11 & FEH 9 A 2 0 3} o f
hngfird] & fafireii #0 S 7@ 7 2011-12 F 2,40,000 T2 ¥ fufly
W 24,000 T HI A T@ G | A< B FA AT F fireh-g
wftafes =+t wmT ? . ;
2. (i) There are two activé partners in a firn Anand and Arpit. Each :_
::apilaln_fl{s* 5,00,000 in the firm. As per partnership deed is :
@ 14% is payable on the capital and each partner is entitiof
remuneration of Rs. 12.500 per month. The firm is eligitM
payment of tax under Section 44AD on the basis of

profits. The total tunover of the firm i i
o g 1m is Rs, 55 lakh, F_‘_. ..

U5 ¥ 4 o) 9l wden £

I{_’viii]

. N I~15.
ludes long term capital gain of Rs, 80 IzIl

f he has agriculture income al‘-'m .
of

(ix)




(i)

(iv)

)

« has obtained permission 1 ; , .
_I‘::lihnt' an imiividr:ml. During 1Ii:I([I,|rl£;:f:;:::t:;1: a r;tamF;n}I"
March he rt‘t‘-'iwt_‘ as I‘!:-.-s Rs. 27 000 from the com 1-'fr'-n'.hm::ttl i"-n'
16,000 from I'_r?v u\dwu_lnlaﬂ. He incurred an c"-i‘renz‘iu;nm N R:,_
1_»'..um.l IUI" n.ll-ufd.nul his income from other SOUrces Au;'lo'" S-I
cxsential tm;uniwuh‘ml._What Will be his income haﬁ he r;c“‘_ T'lnd
Ks. 27,000 from the individuaj and Rs. 36,000 from th e
M T8 UwIve= § Gh‘f{ﬂ???miﬁﬁﬁqqa
g QO F U O e ¥ dg o o
g.umaﬁnﬁﬁﬂmﬂ%nﬁmmﬁqﬁmﬁmmmmm
ﬂa«mmgmmmﬁaﬁm,mn‘Gﬁmmmﬁmm
3 3113 T R | 2z 5 Fore, sideagm i ot &
afg 3¢ ol @ %.ommﬁt[ﬂimfﬁﬁn,mumﬂmgqﬁﬁ
&1 F feaat € ?
Keshu owned a house property at Chennai which was octupied
by him for residence. He was transferred to Mumbai in June, 2011
and there-fore he let out the property from 1st July, 2011 on a
monthly rent of Rs. 3,000. The corporation tax payable @20%
was Rs. 6,000 of which 50% was paid by him before 3 1st March,
2012. Interest on money borrowed for the construction of
property Rs. 20,000. Compute the income from house property

for the assessment year 2012-13. -

3 373 1 e O W Tafa & @ R 9w aw w S w
F o &1 S, 2011 F IHE TG SR QW A IEA 1 o,
2011 & FFH 3,000 T9R W fFR T 3 e 7HA 3§ v fm
X 20 WFE F1 2T R 6,000 798 F @ 31 W, 2012 F 7 50 e W
wﬁmrwm%mmﬂmmmzﬂ,mmh
% o 2012-13 3 fore e Tl R o ¥ orn A

What do you mean by “Application of Income™ Mention sy wo .

examples. .
mgmﬁmwmt?@{ﬁmg‘m ot
“Weighted Deduction is atlma'red in coum::E Mmmxahls ol
of business.” Explain it in brief and write |

payments in respect of it. -
" oAl
AR ¥ w1 94

(if) Shubham is a Chartered Accountant and employed ml "

(Vi) How much profit: exempted in respect of newly established units

0 special economic zone under Section 10AA 2 _
HRUI0AA % sranfa faferss snfele &9 5 wnitm 7417 gmeai & omy &
o femertt o e frveret € 2 '

(X} The total income of an individual for the previous year 2011-12 is

Rs. 2,40,000 which includes long term capital gain of Rs. 80.000,
Wh.ﬁ will be his tax liability if he has agriculture income also of
Rs. 1,00,000.? . _
T 2011-12 U wAfie FI H F I 2,40,000 T § ey
80,000 T 1 eI ol @ WiH{CT 1ok @ FH A )
1,memaaﬂmﬁﬂmaﬂmﬁraﬁmm?

(x) Govind transferred to his wife securities worth Rs. 2,00,000

without consideration during the financial year 2008-09. The
interest is earned on these securities @ 10% per annum. During
the vear 2010-11 his wife invested two years income also in the -
si:nflar securities. During the previous year 2011-12 she earned
Rs. 24,000 on an investment of Rs. 2,40,000. How much income
shall be included in the total income ofGOvi‘nd 7
Tiifa= 3 ST vt &1 2,00,000 T9A 1 wfayfear fasfa o 2008-09 §
fa wfaee & FEmRad Hi 1T T 10 Wowa aftis +1 2@ =1
Iuifsfa g &1 3d 2010-11 F IHHT U A 2 a3 off o=
wfagferdi & fafedm &2 41 1@ 74 2011-12 F 2,40,000 793 ¥ fafrim
T 24,000 T4 FI 3 W §F | AT H FA 51 F frat am
wftnfer 1 st ? '

2. (i) There are two active partners in a firm Anand and Arpit. Each has

capital of Rs. 5,00,000 in the firm. As per partnership deed interest

@ 14% is payable on the capital and each partner is entitled to R
remuneration of Rs. 12,500 per month. The firm is Iﬂ]igible'ﬁijri
payment of tax under Section 44AD on the basis of presumptive :
profits. The total turnover of the firm is Rs. 55 lakh. Find out i
tax payable by the firm. : P

W%ﬁﬁﬂ?{%ﬂﬁ@ﬂﬂ%—maﬁ!ﬂﬁhlﬂﬂmﬂ '
T T A ¢ | WERR WA F San §oft w14 yhem g
< ¥ 71 Y WERR Y 12,500 T4 wf e A 2 & 1wy
44AD % &4 IRerTegd T & SER T T e e §

% fam9 55 T vl ¥ 1 v g S R o T iR




(iii)

(iv)

He has obtained permission to audit

and of an individual. During the Previous year in the th of
March he received as fees Rs. 27,000 from the com rmml:mnti1 y
36.000 from the individual, He incurred ; ompany and Rs,
15,000 for it. Find out his income fromn
cssential for individual. What wil} be

Rs. 27,000 from the individual

& o ol F IR F @ 27,000 T93 UH wyfie @ 36,000 F93 =7
gﬁmgwmmﬁmu,ommm@lmmmmﬁ
& 3 T FMTA | =0 F forg i sifivamd w2t & |
afe IF F1 | 36,000 T T e 27,000 ¥93 WIst 7w & @
I+ 318 fra gt ?
Keshu owned a house property at Chennai which was octupied
by him for residence. He was transferred to Mumbai in June, 2011
and there-fore he let out the property from 1st July, 2011 on a
monthly rent of Rs. 3,000. The corporation tax payable @ 20%
was Rs. 6,000 of which 50% was paid by him before 3 tst March,
2012. Interest on money borrowed for the construction of
property Rs. 20,000. Compute the income
for the assessment year 2012-13. .- )
FY 9 | e T mEm aita dwmnd R T o v e
W T E A, 2011 F SHe e S0 8 e e 6y T,
2011 |/ HHM 3,000 T4 Hifee iR o1 2 fa v & wfer frm
FX 20 e 1R 6,000 T2 A | 31 W, 2012 % 4 50 Shevm 3

from house property

T fora 1w =T % ferg, ferd v s e 20,000 T &1

X fuita 9 2012-13 % foau vm owafa § sma 5 om Fif

What do you mean by “Application of Income™ Mention any two .

examples. :

34 % I9ANT | A9 T THFA € 2 B 2 37w AR

“Weighted Deduction is allowed in computing the taxable profits
of business.” Explain it in brief and write the names of any two
Payments in respect of it. : .
g & aR Ay i w1 T ) T e e wied 8@
S 1" ¥ e TR O TR Wt el < e &
iy

(1)
(i)

(i)

(iv)

)

(vi)
(vii)

(viii)
(ix)

(x)

PART-1I (DESCRIPTIVE}
Maximum marks : 60
Section-A L

Smt. Sunita was appointed as a sales repl_'eseg‘gu]w: in a
manufacturing company of Jaipur fPopu]atrgS a h.s‘, on 1
February, 2004 in the scale of 4,000-%00-310 on starting sy
of Rs. 4,000. From the following paﬂ:cu]arszcaa]n;plujte. her taxabj,
i from salary for the assessment year -13:
Sn;: Ig:ts deames:y allowance @ Rs. 1,000 per month under the

ment, _
tsT:Z;i ?:?ﬂgssiun @ 1% on the sales effected by heT, Du"_ing
the previous year sales effected by her was Rs. 10,00,[}09. |
Her employer has provided her a rr.:m free‘ residentia)
accommodation. The fair rental value of this house is Rs. 12,00,
The house is owned by the company. The company spent Rg,
24,000 on furniture provided in this house. ‘
She has been given facility of 2 litre cc motor car which is used by
her both for office and private purposes. All the expenses of car

including the salary of driver @ Rs. 500 per month are borne by

the employer. :

She has been provided with the facility of a sweeper,. a gardener
and a cook who are paid by the employer @ 200 p.m., Rs. 250
p.m. and Rs. 300 p.m. respectively. :
Her emplayer gave free supply of gas costing Rs. 1,000 during
the previous year. ' T
She contributes 10% of her salary to an unrecognised provident
fund. Her employer contributes 15% to this fund. During the

previous year interest credited to this fund @ 15% amounted to
Rs. 15,000.

She had taken an advance of 4 month’s salary (February to May)
including dearness allowance in February, 201]. '

She is allowed one month Jeave during January mosgh in every
two years in wh_ich she is-used to go Simla for a pleasure trip.
qumg the previous year when she went to Simla on leave, her

ing and coming back with her husband and four
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voluntary retirement Approved Ly .

_ ¥ the Chief g :

income tax. Her emplover Paid her 4 -:mnrk'l~.snliun“;:?Ii?hT; ;;II:—
5. N

on her retitement, She alsy received a sum of Rs. 1.2
unrecognised provident fung, * 1:20.000 rom
-0

sfwdt gAta 1 .‘mmﬁ' 2004 F} Wy (RIS 26 wrw) WY e sy

(M :ﬁwm%m1mmmmwwmmtl
(ii) ﬂﬁﬁmﬁﬂmm1m#ﬂnﬂmmmtim
ad 3 IHF G 10,00,000 T Y e w ¥ |
(iii) I P T ST TR TR E Twr ) g v 914 v
mﬁﬁ@mﬂ,ﬂﬂﬂﬂ&hﬂt%ﬁﬂﬂﬂmntlmmif
Iue HUA T FEE R T Y 24,000 TR R Y|
) T T 2 ST Al I H T g vem W ¥ fore wim
() eoratera & sreren ot s o o et s e sc0 0
wfa 71E Gfed TR & Fw 594 Frdien gro ae 5l om §)
7 O FW, T T a1 OF TEE H e g wem e
) & g7 PRl BRI FHY: 200 T4, 250 T Tu1 300 T4 W

EiGiE S|
(vi) :;ﬁmﬁtﬂw#nﬂaﬁﬁmmmmﬁﬁﬁﬂqﬁwm:ﬁg
i) @ gwIeR fafy & 97 1 10 e |
o gﬁwrﬁﬂ%#ﬂmﬂmtlwaﬂﬁmmﬁﬁmﬁ
fad M .
& 15,000 T4 = F A -
(viii) ::aaﬂ znnﬂﬁ’ihmmﬂmcmﬂﬁﬂhm

afm e o i i § @ o & fd A
() T waw 2 a4 ¥ 1m$.§ﬁmﬂﬁmﬁ“m,

e o 1 ARG T

qu, 11
ﬁmﬂaﬁmwaﬂu )
o 57 57 7,200 T o GO A T e g A

o
Write brief notes in respect of the following :

(i) Unrealised rent .
(ii) Unabsorbed depreciation ‘ .
(iii) Capital expenditure for purchasing patent right
(iv) Partly agricultural income
Freaferfaa & ava« H wiere froforal fafad—
() 7 997 g forrman
(7) Irafim g8 _
(®) vz 152 Tiet & o =4
(%) vm: Ffa amg

Section-B

4.(a) From the following information of Satish compute the amount of

taxable capital gain for the assessment year 2012-13 -

m%ﬁnﬁmmémuﬁﬂkwaﬂzmz—u%mmm%ﬁm'

1 Ul &t o S, _ .
Non-listed - Listed " Non listed
debentures debentures shares

Date of sale March 15, 2012 March 7,2012 Dec. 18, 2011
Date of April 20, April 20, Nov. 15,
acquisition: 2009 1973 2010

Rs/- : Rs/- Rs/-
Sale consideration 2,00,000 2,00,000 3,00,000
.Cost of acquisition 80,000 90,000 1,50,000
FM.V.on 1.4.1981 — 1,20,000

On May 25,2012 Mr. Satish acquired bonds of Rs. 1,60,000 issued
by the Rural Electrification Corporation Limited redeemable after 4 years.
He also acquired on June 10, 2012 the equity shares of an Indian company
worth Rs. 1,20,000 which were offered to public for subscription. The
cost inflation indices for the year 2010-11 is 711.

25 T, 2002 1 ot Tl it e fr fafies & 1,60,000
_mfmqﬁamhuﬁﬂmmﬁ&lﬁ‘ﬁmvﬁ 2012 %1 1,20,000

- (b) Thf_t gross total income of an individual for the previous year 2011-
12 is Rs. 6,20,000. He is given a contribution of Rs. 36,000 to 2
New Pension Scheme which is 10% of his salary. Similar

contribution has been gii'-'en by his emp]oyer In addition he has



0, Contribution to Public p
) Tuition fees of two chyj)

paid the following AMountg g
S also -

Tovident pyp,
d
dren Rg, lziﬁm‘a‘ccﬂunt Rs. 90,000

(i) Contribution of Rs. 25,000 i, notiy
i . i
bonds of various companies ©d long term infrastructyre

(#) mmmﬁﬁ

Compute the gross amount ¢
™ aY 2011-12 ¥ fag uw

w92 1363 7 o Ao -
wuﬁrmtlaﬂﬁ?ﬁthmﬁfﬁélmmmmi

Fax Payable py him,

(@) 3T TG B 12,000 w93

(4) fafv= sfEi ﬂfﬂqf'qa

5. Following are the particulars of the incomes of a Hindu Undivided

(i) Rent received from House property Rs. 40,000. There are four
residential units in this house. The construction of this house had
started in October, 1990 and was completed on 31st March, 1994,
The municipal valuation is Rs. 24,000 and local taxes are paid @

(i) Income from Business Rs. 4,20,000. It includes profits from
Poultry farm Rs. 50,000, compensation on termination of agency
Rs. 60,000 and profits of Rs. 80,000 from an industrial undertaking

(ii)) Dividend received dh 15th September, 2011 Rs. 45,800 from Tea

(iv)

fa) Th

SrfTefa gtammg
mrm%;méummﬁmw“:@ﬁzsmm

Or

What is meant by deemed income 2 Explain such incomes with

illustrations.

‘gt T m'ﬁwm%?hﬁmﬁfaﬁmmmﬂﬂﬁﬁl

Section-C

Family for the previous year 2011-12 -

10% to the municipality.

established on 1.9.2003 in backward district of A Category.

Company and Rs. 23,425 from Unit Trust of india.
“axable long term capital gain from the sale 0
and from sale of jewellery Rs. 20,000.

During the previous year 2011-1
Payments out of its above menti oo the

°f a dependend member who is sufferiné

T g M 6,20,000
thamm

&l

20

f land Rs. 60,000
2 the family made following
ooed table ocomes -
e family incurred an expenditure of Rs. '-O:L 3 permavent

(b)
(c)
(d)

" of the fgmily and tax payable by the famil

- (30)

(=)

(%)

(D)

(=)
(%)

(%)
()

6]

physical disability.
Deposits in public providend fi
NSC VIl issue purchased Rs. 4,000.

He donated Rs. 26,000 to a charitable in : C e e
Assuming that two members of the family have their individual

) te the total income
axablei » exvceeding 1s. I,SD,UUD.COH‘IPU .
taxable income exc g y for the Assessment

ind Alc Rs. | 0,000.

stitution.

Year 2012-13.

Ta 74 2011-12 ?ﬁm@ﬁqaﬁmﬁawﬁaﬂaﬂmmm

ﬁﬁﬁ‘[ﬁﬁﬂmﬂ% _ 3 .
wmﬁwﬁﬁl@wmqo,nww}rwmﬁﬁﬁﬁ# PRl

$ | 5w 1 B avageR, 1990 B TR o T 991 TE 31 7,

1994 ] TTRL AR T 1| TR EdiF 24,000 ¥R ¥ a4

TR ) 10 Wi W w5 W

ST % 3T 4, 20,000 T | TEH 50,000 T F 3 FHE e

en,mamaﬁmqﬁ;ﬂmﬁm‘m&r{ﬁﬁwaommmﬁﬁm.

1,9.znoaﬁqwﬁﬁﬁﬁéﬁwﬁaaﬁaﬁﬁﬁmmaﬁm

#1 a :

@ 15 famaR, 2011 1A I 590 45,800 T TR

Z&2 i $fear & sV W far 23,425 T4

iy 3 farsa ¥ 60,000 T T SaTeT & fasa @ 20,000 93 F W

T T T T §R | |

9 7 2011-12 F RA 9far A H Il A AP H | o

Tﬁﬁﬁﬁ% . . ) .

9RER 3 @9 TF P e 71 fafrem w o e it arram |

tifza &, 8,000 T4 =59 fad |

gl SR wUe TR § T 10,000 T |

U F=a-74 ey frie &R 4,000 T

T quare WE WY 26,000 T4 F e fean)

F fsfoor o 2012-13 & faq oRar %) 5 3179 & 2w 1 T 98

;@?ﬂﬁ“ﬁm%ﬁmﬁﬁ?ﬁmmmwu.m
| - , | -
' Or -

Write short notes on the following :

Bestl.ludgement assessment (ii) Re-assessment (iii)Rectiﬁcﬁzion '
of mistake (iv) Self assessment ) -

fqetatad e vifera fronfor fiafgd - (=) wdten Fofy 1 fRam
() W & i (|) 9@ JER (2) T we-faafom



